o N RS 0n% 7 —5 OHEEE
$4E 2B HEYHE MEX SMIETASH(L) F® - L T~
- - - - — % % H | KE < Bl H— AR E K H ORE Z5RFEER)
A EINEEE R Y T e TRAFE TR | Bk SHLEM-- 24/11~25/4 (67 AR
N o S 3 = =1 ~
 HRREERE 431522 #<o ' BRRBHEEE 461597 my ... % ﬁ o ot 25/ 2~25/T (67 AT
265164 172|363 1|1.53.3/w[1 200/ 2|3|3|14/ K ith|71]1 8/2.024[[1 200/ g i 22/ 8 ~25/ T (SFHH)
JFE 1303324 1 2|70\ 42154.8]5 K5 K%3/3)2 (2|14 B #5601 O|2.065 1 oenang| o1 e 25/2~25/T (67 HIH)
%%E }214 1(1|27)% 1L|39]7 3|1.55.7[1[4 14011 ?L% %ili‘“ 6629 i Ff|56/29[2.088[1[1 1301 A o i - 22/8~25/7 (3R
1800m |5|2|2(38|% i149|26 6 470M|"400m |5|5 |5/24|% 113973 3 140 N w2478 ~25/ T (LAER)
m e " m s 5 # KB et ey —24/19/81 ~ REEHIT S BEAZ b 6
65617 mfEi|13]2 1 i Fl4la19|E #1732 B b g g w0 o /1a/ EFEEA
214-6  690m | 31a—6-3 62001 |y lass 230m| Z |13 220M | B 11-8-2 520/ |y 168 140/ 0B B Atk 24/12/2 ~
i A& 4| AR 25 | (364 430M| AR 1| AR 1)jd{1e2 1400 Fee 7 5 4 v 7 EFEER ENTM)
2 |1e6 530 | 3 | 30406 1,870M #]306 2400 2 |1es 160H | 3 [ 10208 2308 H2es  200M L # h 1 2 3 4 5 6
W AR 3 kg A 8 [FE] 20,118,600M | b AR 1| A& 1 [%E] 44,362,800 SR IR p B B ®| 1,080] 768| 608 474 441] 418
2 1144113\ H|52|46/[1.51.2 & 8 1111200 EnI67]7 2]1.52.1 ki . F o« L P4 =& R o 301 290 169 129 106 84
= 2111215 #2[30|3Q|L63.2%[4  sa0m| & _12122\22[)Il f|67|7 A|1.53.4]8(1 170 FrlokEm X% B8 B % 148 110 77 54 41 31
_FE 313319 T115 2(1.54.3| 8 ;71‘*5 3|5 |5|15|2 IE|15|4 4|1.54.6|0% 7o i BN U — o & 18 110 77 54 P 31
T;;”J ymal2|2/07)k 7(60|6O|165.9]1[+ 18011 TE@ lom gl 4 4l14) Kk 7|69/6 01554 /1|1 1307 ke ik % [z & 148 110 77 0 0 0
616612/ #1850 i 666|233 73/67 i T T Y AN e e T s Y 56 0 0 0
Zl4-1 0 14200 | 31413 33300 g [1ed 2200 | 12 510/ | 8 | 1—2—5 7801 (102 1900 Ao A 5E
i AR T A% 18|l |3e4 140M | ws AK 2| A% 3| |1e5 1200 Wy W FH ORI
fg led Z_;OP% % 1e3e4 EBOP% fE 13 190H é 12 4:30P% )% le2eh ElOFq %% 25 180M M H 3 RHCEAN CREMIH) —1081
i AR g AR 15k 22,423,400M |G AR 2 AR 1 |5ek| 44,957,300 B H4R4945E RCREME) —108
3 116 ]5[10[j #[31[6O[1.50.7] #<v#L 9 11 ]115]E A&[55]3 4[1.51.0 kF 2 HH 3 R4899 MOCRERMHE) —1054
2] 2|2\17|thHE |66/6 3|1.53.3[#[6 1.1601| 212 |2010|& #5461 B|1.52.8[m[1 1601 2 HHTR3842 PG E) 54
CFE 311|215 (425 6|1.54.9]1 TENH| 3|3 3|00 th 5|65 3 5|1.54.9)t 2HE 38428 T R 8
jﬁ” p4| 5616/ 41 #F|862Q|1.55.4[1[6 4907 j—zt@ %%"4 44|15 #(3169(15591k[1  130M 2 HHIOR50898] MG  #) —5x
1800m |5 |4 |4 M| EXII67|7 2 2 770M|{goom |5|5|5[17|15 #2(30|39 2 1400 P
613131211 2464 [ 6/6/6/20F i1[16/37 s =
216—2 7,190/ | 3| 6—2—1 23,630/ |y |26  670M| 2 | 12 560F | 3 | 1—2-3  850M |4 182 1101
% A& 20 )p% AN 67 ,% 16 240M ’.% AR 2 ’f A& 1 j% 193 1200 H
21206 4,970 | 3| 10206 1,930 ez 450 2 1= 300/ | 3 | 1o208  270m 2o 160 ]
e A 12 | g A% 8 |5ek| 24,381,000/ | A& 1 g A% 1 |52k| 53,676,800
4 116 ]5[14]/v ib[19[4 1]1.51.5] #<vEL 10 11107 F %[24]6 4]1.59.7 Ly
204 4119|& #5461 B|1.525/#]6 1700 212 |2(08|#% J|48|57(2.02.7[1[1 2000
_F# |3]2|2|15/k 33| 4 8|1.54.1|1 TE%H |33 (3|05 [ 616 62.06.1]%
i% %;4 33144 [|74/ 38154416 15001 %E@ ﬂw 5(5(07| 1 |34|43[2.0851[1 100H
1800m 50111214 H|[14 13 4 130 1800m 5/6(6|14|& JZ|68 16 2 150
615|616/ 37367 B >4 |4l08ni H[53/1 1 B
FAE 580M | 5| 6—4—2  LT80M | g |aes6 120/ 5 | 12 640f) | 3 | 1-2-3  3,150M | g |1e2  130M ]f_a_&uf_ﬂﬁﬁ(ﬁﬁ)
i AR 2| AT 4 i |2e6  3T0M| b A% 1w A 8 |di|1e3 530/ 0 E—a—'\’vvh%@
2 [aes 260 | 3 [2o106 a2 | [291  S20MF 2 Top 290/ | 3 [1o208  810M #|208  600M @ =+ A{FOTLUCE  ¥TRYM-T30E
‘e AR 1|k NS 2 [55k] 26,990,000 | b A 1|k A% 3 [5Lk] 76,157,900 2 BEOER
5 11117]E #[72[25]1.50.8 &7 11 1171714k w[71]1 8]1.50.6 ] BIA~GAH[HEF ) LB HEGE TREE TREE T8 —RREER — e
) 2066135 tir|se|23|1519[w[t  scom| BB |olalaloslix wiss| 54152281 1200 T
CFE 3040419 446 815431 TEEE 3|2 2(17| % fil|59| 2 3 |1.52.4|5 VEREEE :
37 )ma)3|8|20/k2 (L16|37|156.0[%[1  240M[E5 (4166|155 % 435 3|1550[u[1 1107 () #A% 2 Big
5/5|5/25| 1+ 7042 6 23017 533171 H|[14/13 4 5001 Iﬁ\'h 2E | o [ 4 | 0% | 6% wn | FETRE[ AR o [BE [ 2 oe
1800m + 1800m s A8 | Lar | gor | 5% | g |08 2
612|216 &6 12147 B 6/5/5/16/5 #4256 B S RRRE e
Zl1—6 17601 | 3| 1—6—4 52001 yi|1e6 2001 F | 1—4  1.000M | B 1—4—2 23900 | g 104 1600 2 E—
i S A 21 | [1o4  230m| e g 4| A% 9| |1e2 130 £y — b BliplnlS ] ]]56ls
> 3 W 106 2802 3 W ge 4100 4f@ﬂ%ﬁ'@ﬂ%ﬁ'%m%ﬁ'|")—-L\%W>tjiﬁ%‘ JsPabin
i | 196 1A00H 5| 19496 - B80F | 194 680FT 5 1e2ed - 4T0H] ) EEBEHBREE O EERHMLTE
i AR 6| A4 [FE] 39,363,000 | b A& 3 |G A% 2 [%E] 61,531,500/ ®r‘ff’lElﬂu/zEl ;1011 AETORAE (BRI BAE WE| B R E R BIER |
6 1 1[1]12[a7 m[s3[1 1]1.51.4 7 12 T[1]1]11[RE ws[15]44]151.2 &7 HEEHTE %) L 182 £ HIBE LT 5, f e P e e e e
o sasml 120 5o 7[®1 190 @ BARNAROBAL. HEBHOSVEFELILT S, Z50_AR 49 0] 1516
¥5 N4BE 2|22 24/ #5412 °7]1.53.3 . T 21212110 #1914 111.52.7) 8 & @ BAERNAE AFLOBEL BB LORNEFE LT 5.[508 BM@] 2 | 5 | 8 [ 11| 4] 17
g 315|500/ 6% 1227 OQ|L54.4|1 MOERSI8)3 |31/ 2 )\47\4 O|1.53.3 I @ 8BS LHR-0OBAIL, MABEIELT 5. %58 o] 1 | 6 7 | 12| 18] 18
jﬁ% };’1”4 44[10| & #F|54|40|1.56.1]1[1 1100 j»':E@ ﬁu 55097 F 1152154411 1201 ® HEREISTERMIEL L ESTRERROLERY LT 5.
1800m |5]3/3]20//h #1850 2 1801| Jg00m |5 |6 |6[13|M #5|41|27 2 1200 CEERMHBRTIL RAL LTLRERY T 5, )
616/612| i 182 1 ¥ 6141412/ #60]19 " 0 g RN RETS. O BEMEAUE
L L fil=)
@172 280M S 1-2-5  LOM ypiier  200| &\ 12 2400 | G\ 1-2-8 460 gpl1en  100R D SEBEBBEO1 2EO6R LTS, A A e T
i AR L AA ] Pl K AR 1|k sl 1o zon Q BALIERE LS, BELIL—TORELFREL) | BB RINV—T | RTh—
2 1e2 25011 ; 1oges oo | P[220 TEOM] 2 1oy 160M] | 3 | 10208 260p | 2293 150M LERENSIRREAE S, (FRILLCSBIERY ET5, ) | DRmmRn |5 flBom] ot % ] B 0w ok
= AS 1 A% 3 [5k] 36,941,400 | b AgC 1 AR 1 |%E| 86,901,300/ Q) ERBOHEARE
ET \, REBHBAREL SEEBEOI~CEOAL L, A€ () FU—LBHBEORMAS
. 537 805,000 | AH¥T07% F4%[1,101,180,700M | FUAIZEEK | 106,637A RURELERERERIREY S, RGO £ R B,
R i ) s b E#L—RHEERORE
MER—FL—XBKER N@ EA 3 — 2 BB () BEEEILHRI— MERERD LEET
STIGES A ~STTET () WEXHE LIBRT
xEmpsw SROFIA~BRIFIA (O) FRABEHAREREE L 1T
15 | 25 | 3% | 455 | 5% | 6% () HEBEERLLLRT
OV 65.0m 72.0m 6) zOOERRN LD ERE LE-EF
g 150.0m 150.0m |0y oo | asen |[12—2] 51.21| 18.45| 860 8.07| 6.81| 5.65
- & W 5 ©
\ —ve— . -
@ggga“ 10503 YT I ) Wi5-27=0| I0m| |[23=%| 12.42] 2396 17.78] 1676 16.36] 1242 BAREOERRUERRLISONT
. |® -om 57 5"- 41 om %550 (1302 13.62| 20.48| 22.17| 16.57| 14.73| 11.40 £L—Z3E(1.800m) THEEITH > THYETH HBEEB TR ISZRROBEIC K YKANELL. A
. [ ) ERRE VA TR - B AR BEAE G 2B CERS ¢ THRSE £ 7, XAERS 4 L — REENERGIHE
: ] | 5 ‘% 43—2| 13.48| 15.27| 19.08| 17.63| 17.58| 15.75 FBRFRFRIESECES CLbHYETDOTHONEHITET L,
£94Y 2. 545 —L—RICET B EM D€ Sk R RN S [ FHh s Ciga)
;’ SI=R| 7.34] 1488 19.47) 20.63) 20.48| 16.09 ARTHRIC, L— 20— RORIHEESS BB LS 2EE—BE y MIBRS T RS A
_ FOEKTHRBSIHTE Y b79 bET B ENBYET E1= R — MEICL— 20— 2DORIFHEE
62-2] 1.95] 7.08] 13.09) 20.26) 24.07 32.37 55N HEE LT L — 2 OBTAREGISE 3, SHHE AL ¢ THC C L bHUEIDT.HEML
REN D HI5FEEF B T E F & B I BER|E B E F &£ BRI XK (BE O@\:T@%(Tién\o REBITEER
(TA15B~7A208) | 3659 |[#k&E  mEA| A2 | 35 [6.76] 3860 |4 «‘E Bl | ®& [4.16 CER
e i - ﬁ}#li?ﬂlﬁ@ﬁ&m%—rb\ﬁé$TW§L&L\;9;&32273\(.\&3'0
4137 [EB  H=| Al | %% [6.75| 4469 |+l St A2 | &9k [5.63] 4405 [m%F *UH% Bl | fast [4.09 b\bg,ﬁmmi—;o
4512 |B%  H¥| Al | &E [6.73] 5053 luQ GRE] A2 | 48R |5.47] 5107 [KAA  EUK| B | R [3.92 o#iaﬁﬁfoﬁ_ R
3412 (8K | AL | #E |6.72| 4555 |&k K| Bl | f&hki [5.30 [ 4343 |l B[ Bl | L5 [3.74 O, RE DA O MTTo _ _
. = P p— L=z EH(E D Z  FHITED R L—RET, 5 T evavwT =
1643 [T WE| Al | &)1 659 4022 [¢5F Wil BI |l [5.28] 3583 |dik 9| B2 | f k| 3.4 Y RSB CRTRIAMSREL AR T, ARRRR (K5 - »2»7) RER
4434 |H RE| Al | [KB |6.51| 3538 |%ith W5 Bl | #)5 [5.16] 5244 |HEH fiil| Bl | f&hkd | 3.37 LERALREMSRURBTSEICS VWTHA LIASEIHEICIRTEL T,
4748 |8 mEA| Al | = [6.42| 3619 |[EAJI %] BI | Bl [5.13| 2538 |Eff | BI | shnt |3.27 ZEBERY— X
4786 |tkBE 18| AL | B [6.34| 4766 |JF FZ[ Bl | BEE [5.11] 5100 [FE  —H| B2 | BEE [2.67 - P
3740 | K&  EF| Al | B35 [6.28| 5154 R K[ Bl | ALK [4.88] 5343 [k #Lk| B1 [ KK [2.18 TRo MARSARES WSO | PR - L-XER
4437 [FE  jE| Al | &I |6.28] 3699 [sk  IEA| Bl | W E |4.80| 5349 |=il  zEE| B2 | k| 118 0120-85-8006 !,EI“E 050-3090-1644
1630 &k WA AL | B [6.27| 4197 [E% 41| BI | il [4.62[ 5304 [JFH 5| B2 | BEE [ 115 L oo
4761 [\UE  ®A| Al | %% |6.27| 4651 |/kiE  ABa| Bl | ABR |4.50 A=aR=3 http://www kiryu-kyotel.com
4578 |BEIL  HESA| A2 | KBR |6.24] 4735 Ml HESR| Bl | FRiE | 4.50 E= ] 20 | A 23 ] 2 | 26 | 27 | 28 | 20 | 32 | 35 | 38 | 40 | 45
5012 |MN&E  fATE| A2 | f8F |6.11]| 3569 |HH #E| Bl | Bt |4.35 {jﬁ B3 | 549 | 544 | 524 | 517 | 573 | 559 | 5.08 | 5.77 | 5.22 | 5.06 | 4.81 | 5.17 | 5.18
3951 |HE  FE| A2 | BE 6.06| 4872 (I 7L BL | Z5 [4.27 4 | 2:8%| 357 [ 37.2 | 304 | 35.3 | 36.4 | 38.2 | 28.8 | 40.0 | 33.3 | 32.0 | 286 | 32.0 | 34.9
. - . = . T ES | 50 | b 62 | 63 | 75
4430 kEH  F=| A2 | F® |5.91| 5212 /)1l $HFI| Bl | &6 4.19 2:3%| 315 | 37.8 | 375 | 26.7 | 39.0

BEREE 7/4 ) 6 7 1 8 [ 9 10 [ 11T [ 12 | 13 [ 14 15 [ 16 | 17 [ 18 T 19 [ 20 21 1 22 1 23 24 1 25 ] 23 27 [ 28 | 79 30 [ 31T [ 8/1 2 1 3
] E3 [ £ =] B [ &k [ %k A 1 £ [ £ | H | R X [ K [ K [ & + [ H B | & [ K X £ | | B [ B | %X Xk | K | £ + [ H
EJJH%Dwﬂ% PALEE > Z0EFGE WKoBARKET T Y = 7 bk in HilZk %22Ezﬁzaéb\5b‘ﬁ FAY—AR—=IK
GIIMBK# W5 [ [GIITDHZ G A=)V LF 1+ —A_Hil] 4=FAY =X Fll SGA—Y v VA y7 il T GI=H _
Bmoavy 1z s [GILERIG [Z )N P JBEW HE VSFEI [ZEEN [ ]
Ub ‘[ﬁm ‘ ‘ ‘ }GI]I?E'F;-} STRILES ‘ }G]]I‘H%’i%& ‘ | TR | | }{Elﬁ‘-} ‘ }T%DE STRIES }G]ﬂilﬁ!ll




